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Name:

MA111 :: Exam 1 :: September 17, 2015

For full credit, circle your answers and show all your work!

1. Factor the expression completely.

2® +62° + 2% + 6

(C+0C) 4 L (3 ¢)

xg(xa s )+ 4 (¥ ¢)
- ww U

()ZQ-F (.\(>f + i)

2. Simplifying Expression

Simplify the expression

Vo~ Aty = Tyt dy
" Yy

into the form x"y*. \]-—x—-?_ J-—bfs. 'EJ_;(_" ';\]'gz s\r;:_’

l l.!. 2 3/ 3
2 2, 3 < —.‘.}4.&
o X t\léx’ X 6 6 ¢
S |
XX Wy
3/ l‘1/(’




Name: MA111 :: Exam 1 :: September 17, 2015

3. Factoring
Factor the following expression: 'I

- Bt 1Te-28 (3?4"“(3()(4- 7>

4. Express the expression without parentheses:

(30 +7¢)(b — 2d) TolL

2ab -242d + b — W ”(
B‘L,(Dkk £be -lqde

5. Rationalize the Numerator:

77N\
2 (Ve 7i-e) (@3
ATEIE (oo + e

@+h) Haloth — alath|-a"
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6. Simplify the expression
(x4) 2 1

(X Yz +3 22+ 7z +12
(x+72) (x4

2X +3 \ A+ 7

N pm—

()LH) (%) (w3) (x4) (44 (=)

7. Simplify the expression y T x lﬁl N X—)_
T YAr< - =
N 1 LTy2 " - - X
X -, Xy P T g 5 9
™ X "6
* M

qu' - ‘ﬂl x\\,\

Ry )y (M\/
-y -l

8. Factor the expression completely and simplify your answer. Write yotr
answer with positive exponents. Begin by factoring out the lowest
power of each common factor.

723 (2? + 3)” IE 2’ (22 4+ 3)7Y?
“13- (1)
(D) (204D )

’)
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Name: MA111 :: Exam 1 :: September 17, 2015

9. Perform the indicated operations and simplify: )((ZX + h)
(z + h)Y— 2* -

Foll hx )»(

(X+h) Mk) T

,\ T elP =yt 22X +ht

10. Simplifying Expressions " L‘S I5-9
Simplify the expression 1 (x ) 'L'-; - B
Mh\hﬁz l a5y2b3 —Sy 2\ =3 :xq.xt'.x1
C*? i3 a8beald \t
% 51
and give your answer with positive exponents. — .
%S 3\3 (12.411+|Y) 1 ¢
x b a n ‘\’Z‘! d? 29 X ) X
— “
) XY

9' 1L(.

11. So far this class is
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Name: MA111 :: Exam 1 :: September 17, 2015

For full credit, circle your answers and show all your work!

1. Factor the expression completely.

( N 6)(3) + ib(a* G\
:’5£xiié> + 1(%14_—4.) = (XZ—FC\(XZ + B X

(x40 () (KT - = +1)

@/S_ o o = o>

2+ 62° + 2° + 6

2. Simplifying Expression
Simplify the expression

/x2y5 3/x3y2\5/ﬁ

o, % .
into the form ;c-;:-y—sl1 ’? 5 <
3
o (¢ e Uy 3% R At
X‘ 2 ' 7(' ‘32/3:/'5
U
Vh % 3 11

(|4\+/;) -L+3) T %

% )(%/
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3. Factoring L

Factor the following expression:

— 31; PlTr-28 = (3)4 "f)()( + 7

4. Express the expression without parentheses:

(3a+ 7¢)(b — 2d) Tol\L,

2pb - bad -be —Hcd

5. Rationalize the Numerator:

(o) §\ath L

(h)‘J- —_

(o Hﬁ + am_ \YZ\«' -
BN (v (L =2

RN 2

L«Tﬁ:’; + )
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6. Simplify the expression

+
XA4) 2 1 = a—-l

X ) x+3_w (XA
() () f
3y W) \ 3 (i) — |

—

@2 \[2) (=) () (XA (+5) (x4 3)

. . . L 2

- 7. Simplify the expression D_y vy 71 _ X‘L \I - X
LR T _yFk Ny X
1r & G, g . X

XA
— » -;('?'yQ CL’Q - ,x-'- _ \f'l )(2 .\I

& oA ToSe e AT

— X

8. Factor the expression completely and simplify your answer. Write your
answer with positive exponents. Begin by factoring out the lowest
power of each common factor.

72 (22 4 3) 7V — (22 4 3)7Y3

=7 Ts-C)
)(a(x"'%)v 7X(i§>ﬁ - \>

£ (1 (+3) 1)

? (7&2‘*3)4/3
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9. Perform the indicated operations and simplify:

(x4 h)? =a?

SERRGEN D
/

h

10. Simplifying Expressions
Simplify the expression
a3y 2 =3
1P rSbPad

and give your answer with positive exponents.

\“3 2.9 33 S '3

'13°g8 3
XWx b & X & b oe

— . 5.l ~ $9 -z'l 6-9=k
5§ 2 % - 51 '23 L‘51 - o
¢ b Xy s\ A

2 o\ 24 LIS 24 ( [2424-+15) ( o,

- * x lﬁ
S b -6
i toL

L 9

11. So far this class is







